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Abstract

In a game called red and black, you can stake any amount § in your possession.
Suppose your goal is 1 and your current fortune is f, with 0 < f<1. You win back
your stake and as much more with probability p and lose your stake with
probability, ¢g=1— p. Ahn(2000) considered optimum strategy for this game with the
value of p greater than 3 where the player has the advantage over the house. The

optimum strategy at any f when p>3% is to play timidly, which is to bet a small
amount each time. In this paper we perform the simulation study to show that the

Timin strategy is optimum.
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1000 999 998 %l 96 9718 900 8M 85

1000 99 99 976 978 979 88 816 85

1000 999 999 974 982 974 85 83 90

999 999 998 98 976 974 85 8B 871

99 999 1000 90 912 9n 89 8h 8%

1000 1000 1000 %7 9718 913 8% 8% 876

1000 1000 1000 979 976 976 898 862 87

998 999 999 9711 911 982 872 816 891

938 1000 999 | W 9N 884 83 80

1000 993 999 9% 979 90 83 81 85
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Game #1 : In a Case of Timin Strategy(f=06 ,p=59, &=.05) Game #2 ; Ina Case of Timin Strategy(f=06, p=59, @=05)
f s wa cf f s ma cf
0.600 0.030 0833 0570 0.600 0.030 0.609 0570
0570 0.030 0.031 0.600 0570 0.030 0824 0540
0.600 0.030 0562 0630 0540 0.030 0.268 0570
0630 0030 0990 0600 0.600 0.030 04% 0.630
0630 0030 0.052 0660 0630 0030 0022 0660
0660 0.030 0057 0.690 0.660 0.030 0.064 0690
0.690 0.030 0328 0.720 0690 0.030 0466 0720
0720 0.030 0487 0.750 0720 0.030 0.165 0750
070 0.030 0033 0.780 070 0.030 0555 0.780
0.7%0 0.030 0237 0810 0.780 0030 0646 070
03810 0030 0245 0840 0730 0.030: 0312 0780
0.840 0:030 0883 0.810 0.780 0.030 0620 0.750
0810 0.030 0639 0.780 070 0.030 0987 0.720
0780 0.030 0.052 0810 0.720 0.030 0.74 0.650
0810 0030 0872 0.780 06% 0,030 0538 Q720
0.780 0030 0445 0.810 0.720 0.030 0550 0.730
0810 0.030 09% 0.78 0.750 0.030 0.143 0.780
0.780 0.030 0878 0750 0.7%0 0.030 0.667 0750
0730 0.030 0510 0.780 0.750 0.030 0.766 0.720
0.780 0.030 0137 0810 0720 0.030 0170 070
0810 0.030 0473 0.840 0.750 0.030 0359 0.780
0.840 0.030 0.931 0.810 0.780 0.030 0437 0810
0810 0.030 0.062 0840 0810 0030 0.356 0.840
0840 0.030 0842 0810 0.840 0.030 01838 0.870
0810 0.030 0118 0840 0870 0030 0738 0840
0.840 0.030 0025 0.870 0.840 0.030 04% 0870
0870 0030 0487 0.900 0870 0.030 0081 0.900
0.900 0.030 0.158 0930 0.900 0.030 07™ 0.870
0930 0030 0507 0.960 0.870 0.030 0.9%4 0.840
0960 0030 0706 0330 0840 0030 033 0.870
0930 0.030 0697 0.900 0870 0.030 0687 0.840
0.900 0.030 0866 0870 0.840 0.030 0645 03810
0.870 0.030 0343 0.900 0810 0.030 058 0.840
0900 0.030 0793 0870 0.840 0.030 0.107 0.870
0870 0030 0044 0900 0870 0030 0591 0840
0900 0030 0.766 0.870 0840 0.030 0540 0870
0.870 0030 0313 0.900 0870 0.030 0603 0.840
0.900 0.030 0.608 0.870 0.840 0.030 0977 0810
0870 0030 0.702 0.840 03810 0.030 0573 0.840
0.840 0030 0523 0.870 0840 0,030 0122 0870
0870/ 0.030 0247 0.900 0870 0.030 0.124 0.900
0.900 0.030 0.9520 0870 0.900 0.030 0.406 Q0.930
0870 0.030 0048 0.900 0.930 0.030 0416 0.960
0.900 0.030 0937 0870 0.960 0.030 0969 0.930
0.900 0.030 0897 0870 0. 0.030 0.068 0930
0870 0.030 0409 0.900 0.930 0.030 0443 0.960
0.900 0.030 0352 0930 0.960 0.030 0.134 0990
0.930 0.030 042 0.960 0.990 0010 0594 0580
0960 0.030 0539 0990 0980 _ 0.020 0359 1000 =

0990 0.010 0963 0.980
0580 0.020 0241 1000 =

Game #1 : In a Case of Bold Strategy (f = 06, p = .539) Game #2 ; In a Case of Bold Stategy (f = 06, p =.35)
0600  0.400 0524 1000 = 0600  0.400 0579 1000 *



